Zwell.

BRfISHBAE vyrqnvv—x Jvvao%s zL-1908
CDIEVF. HHEREBBV EIFWeEEFTULTHEDOHESSETVET,
RREZLICSHEALUTVEELEDIC, FIORMNHBAEZ KK BHEHFDOSA. IEULLEDHFIFETL. CERLESL,

A /EM BERREB (SBREEH T SNCRETRaEETNTOET)
SRR TS, ISm -
B D~ t un(D' \ TT COFFHAF YT o e e e e &
gggggfu< WEH&&&DMmeD%?%MH e oAl MEXZE - e . s

B{tiRE (B33 : mm) #nEeE : 13~33mm | IAEE

x
t
DEHM;
\ R
_HIURNT :
®40° Hb
L RINT
s EEEIIE (e mm)
I RE@
**r*ﬂ#*r** r ! Y [
B ik / T
Q ¥ o B o =1 || %
2 T3 B AR g
\\\;v//// ‘ﬁL T N l \
| ‘! 73 1) 17
PEHT—A REXRE LW‘ ! | MI(EER) ,5 H
L ! p21FEE25 <
e FE |[HYE (FEEHLSOYYTURS)
¢ 13~23 0 (p28&E&EN)
24~33 FE-23 (REE)

WE{IFIE

1 L5 MBUSTUINIR] #88RUT. EEDMBICTUIIZET>TLREEN
B U TR IC R IeARBE EDRICESHEONEL D, ENVICEDBRVLTH SRRBERD FFTLREEL,

2 HEHMIFBWROQAL (TFIUTFSRIAL M3X25) ZRFFLT. LWoltABRZERFSL. BREDNSDEHT—R%
EZUIAALTLEE L,

3 EEAHLSDOFHFAFv Y IEEZELRAATLIEEL,
DEHAF v v IOED ILHDREE. FEEOED LEHFUNTOMBEEDE TELAATLEE,

4 DOFHFAF vy ITORREETFIUT MSNRL M3X25 TEELTLRREL,
ZOE. RUOHEDRIFETr—IADHYDNEUVEE R MUY @ dkgf.cm) [CEEHTLREL,
WED FICHOMITRE. BIBOBERICKEDET,

WfELD T

DEHZS|0ADDEERE. DEHZEICHUIAALTLEE L,
SIDRAATRETE BICHLIAT L, DEHDHTEFT,

AEBICEATHTER] - CHEIE. BELVKRO VL EEWVWTEERSEE. iﬁ_lat'FnE@,.,\EllCBl?EL\L\Tcbiﬁ'o
7-¥570 k-2 BEES 03(3864) 1122 SUGATSUNE AFVRTE

ZisE A~F 9:00~17:30 (Fk- £ BSAEZRER) AN R (o Tty

FAX 03(3863)6875
o : 1SO 9001(JSAQ384) - 1SO014001(JSAES97) BEER
E-mail : support@sugatsune.co.jp 1509001 B H5014001 TEFRE TETS DA MATHE AL

RRBFREXEXA2-5-10 T101-0032 http://www.sugatsune.co.jp/

2013.04 PRINTED IN JAPAN 0344-2



Zwell.

INSTRUCTION MANUAL zweiL SERIES PUSH KNOB ZL-1908

Thank you for purchasing our products.
Please read all instruction carefully for proper installation.

A CAUTION

B Parts Description (Al parts are already assembled.)

- Sugatsune will not be liable for any injuries or damages due to *Housing + ¢ ¢ s s e e e e e e e e e e 1 pc.
improper application or use on a door that is not within proper . Back side knob cover -+ ¢+ s+ e e e e 0 1 pc.
specification, or by disassembling / customization. Truss screw M3 X 25 « « « « = = o o o o . 1pc

B Specifications (Unit : mm) Door thickness : 13~33mm | [l|Side Elevation
Up
'
Knob
Door
Counter bore/ 0 olwn

. Spot faciflg o

Hole dimensions for Minstallation Hole Processing (Unit : mm)
Back side knpﬂb cover

" 28" ]

Back side knob cover Door front
surface
f Tt | I ] T
2 ¥ 8 L T S~
- “a T S \ S S
! 8 » » ®E \
:j) 5 _g 8 8 <] l \
~8= (= G
A=k=} L |~
T Detent processing
© (Door back surface) 25 H

@2.1 with depth 2.5

~—(24)

Housing Door front surface
Door .
thickness H:Counterbore/spot facing depth
13~23 H=0 (¢ 28 penetration hole)
24~33|H=Door thickness-23 (from door back surface)

Binstallation Procedure

1 Bore the hole in the specified location on the door. (Refer to Installation Hole Processing.)
Be sure to clean up wood debris and all dirt before installation.

2

Take off the assembled truss screw, and tear all parts down.
Push in the housing from the front surface of door.

Push in the back side knob cover from the back surface of door after positioning the detent jut directly underneath.

Fix the center of back side knob cover by truss screw M3 X 25.
(Recommendable fastening torque : 4kgf-cm).
Fastening tighter than necessary may cause damage.

BHow To Use

A single push of the knob head will conceal it.
Another push will unlock the knob.

SUGATSUNE KOGYO CO.,LTD.

SUGATSUNE KOGYO (UK) LTD.

Phone:
Fax
E-mail:
Website:

+81 3 3866 2260

1 +81 3 3866 4447

export@sugatsune.co.jp
www.sugatsune-intl.com

Phone:
F a x
E-mail:
Website:

+44 118 9272 955

© +44 118 9272 871

sales @sugatsune.co.uk
www.sugatsune.co.uk

SUGATSUNE AMERICA, INC.
Phone: +1 310 329 6373

F a x : +1310329 0819
E-mail: sales@sugatsune.com
Website: www.sugatsune.com

SUGATSUNE SHANGHAI CO., LTD.
Phone: +86 21 3632 1858

F a x : +86 21 3632 1868
E-mail: lamp@sugatsune.com.cn
Website: www.sugatsune.com.cn

1ISO9001(Japan Offices and Sugatsune America) and 1ISO14001(Chiba Production division and Logistic center), certified.



